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Exercice 1 

 

Consider an illustrative example of a particle swarm optimization system composed of three particles and 

Vmax = 10. To facilitate calculation, we will ignore the fact that r1 and r2 are random numbers and fix them 

to 0.5 for this exercise. The space of solutions is the two dimensional real valued space R2 and the current 

state of the swarm is as follows: 

Position of particles: x1 = (5,5); x2 = (8,3); x3 = (6,7); 

Individual best positions: x1* = (5,5) ; x2* = (7,3) ; x3* = (5,6) ; 

Social best position: x* = (5,5); 

Velocities: v1 = (2,2) ; v2 = (3,3) ; v3 = (4,4). 

Please answer the following questions: 

1. What would be the next position of each particle after one iteration of the PSO algorithm using inertia 

 = 1?  

2. And using  = 0:1?  

3. Explain why the parameter  is called inertia.  

4. Give an advantage and a disadvantage of a high inertia value.  

 

Exercice 2 

 

1. Appliquer la méthode PSO à l’exemple simple F(x) = x2 et avec c1 = c2 = c3 = 0.7.  

2. Tracer les trajectoires correspondantes des particules sur la parabole. 

3. Appliquer la méthode PSO au cas de la fonction de Rastrigin sur [-5; 5]2 : 

Ras(x) = 20 + x1
2 + x2

2 – 10(cos2πx1+cos2πx2) avec 10 particules. Qu’observe t-on? 

 

Exercise 3 

 

Réécrire l'algorithme PSO et discuter sa complexité. 

 

Exercise 4 

Appliquer PSO au TSP: interpréster: 

- Une particule ; 

- Une vélocité ; 

- Une différence de positions ; 

- Une somme de vélocités ; 

- Les deux équations de mise à jour. 

- Donner des exemples. 

 

Meme question pour  KSP et SAT-3. 
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Exercice 5 

 

 


